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f K GROSS | HDCP NET
X 1|ARE #* 37 36 73 9.3 63.7
* 2|HI[R f-F 39 40 79 146 64.4
* 3|IkE FKiE 40 39 79 128 66.2
* 4| EH BX 41 41 82| 154 66.6
* 5|dJIl —EB 43 37 80 12.3 67.7
6|tk EFB 42 41 83| 15.0 68.0
7| Sk 39 38 77 8.5 68.5
8|/N#k EER 41 45 86/ 17.3 68.7
IEA FRE 40 35 75 6.0 69.0
*10|FIF IEJA 37 36 73 3.9 69.1
11|kl ==& 43 36 79 9.9 69.1
12|=H =B 41 40 81| 119 69.1
13|/l HF— 37 38 75 5.7 69.3
14|48 FIFX 44 42 86/ 15.8 70.2
*15|RE £EF 45 41 86/ 15.6 70.4
16|4820 A 44 42 86/ 15.3 70.7
17VKIE &' 33 39 12 1.1 70.9|8.
18|59 IFsE 41 47 88 17.1 70.9
19|2EH AEB 44 39 83 120 71.0
* 20|51l 58 40 43 83 120 71.0
21(Ex FIIE 44 42 86 14.8 71.2
22| =H %= 42 39 81 9.7 71.3
23| = 43 40 83 11.6 71.4
24| KIZ = 42 44 86/ 144 71.6
*25|2H A% 40 42 82/ 10.0 72.0
26(IUF Fi5 43 42 85/ 13.0 72.0
27|=H BAxX 45 43 88 159 72.1
28| K35 1&— 45 43 88/ 155 725
29[ AAREH 43 41 84 11.2 72.8
*30;thH Bt 42 43 85 12.2 72.8
31|FIL EEX 45 39 84 109 73.1
32|#F s 43 41 84/ 109 73.1
B|FE ZEF 44 46 90| 16.1 73.9
JUWMT AE 44 42 86| 12.0 74.0
*35|8JIl AR 45 42 87 12.8 74.2
36[kIL 18 44 42 86/ 115 745
37| £ {E—ER 44 46 90, 148 75.2
38|FIL EE 43 44 87 115 75.5
39/NEFH Hfikl 41 44 85 9.1 75.9
*40|#2@A BBA 47 46 93| 17.1 75.9
4|E FEX 48 41 89 12.1 76.9
42|=%F F0AI 45 43 88/ 11.0 71.0
B|AR E£E 42 49 91| 12.7 78.3
MBEH FE 49 42 91| 12.0 79.0
*45| =R EH 50 46 96 16.7 79.3
46|hG1E & 45 53 98/ 175 80.5
47(fE 1% 47 49 96| 13.0 83.0
48|78 BJA 42 54 96 12.0 84.0
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I’ 4 K A ouT IN GROSS HDCP NET
* 1|EEI [m)F 50 51 101 34.3 66.7
* 2|§RH FEd 43 43 86 18.6 67.4
* 3I/MIl & 49 47 96 28.1 67.9
* 4|BRE E£X 48 46 94 249 69.1
* 5|iEH =& 49 53 1021 31.6 704
6|8% B8R =2 47 51 98 26.9 711
X7 MBAR FHE 45 50 95 23.8 711.2
8|l#FF FE&Ek 45 46 91 19.4 71.6
o|ikliE AZE 43 47 90 18.1 71.9
*10[;EH ¥ 45 45 90 18.0 712.0
11{37H =F 49 41 90 17.6 124
12[/\ 1l FEBI(M) 43 50 93 20.3 12.7
13| KIE K& 44 48 92 19.2 12.8
14|;kH =EB 44 41 85 12.0 73.0|B.
* 15| A iE &3 46 48 94 204 713.6
16[IUT 75 50 48 98 234 74.6
171EX IEF 50 47 97 22.3 714.7
18|#4 1EBA 54 48 1020 27.2 74.8
19| /FIEF Eig 44 42 86 10.8 715.2
*20|RIRF  WH 44 51 95 19.7 75.3
21=% H 52 47 99 235 75.5
22|18 & 48 49 97 21.3 715.7
23|Nk =k 51 43 94 18.0 76.0
24|[R O #2 48 50 98 22.0 76.0
*25|5k f#— 50 48 98 22.0 76.0
26|Kjl E— 53 52 105 28.8 76.2
27|1%2H E1T 49 46 95 18.6 76.4
28| = 7k E i 50 54 104 27.6 76.4
29| E¥NEE 18— 46 51 97  20.2 76.8
*30| B4 & 49 50 99 22.2 76.8
3| EAX 47 47 94 16.8 11.2
3221HE E—ER 51 44 95 17.7 17.3
33 HO EE= 55 49 104 26.7 11.3
34 KH Eft 55 49 104| 26.4 17.6
35|86k ki 53 46 99 20.6 18.4
36|7kH FE 54 50 104) 255 718.5
37| AR & 48 50 08 19.1 78.9
38|FTRE 1EEB 47 44 91 12.0 79.0
AR B— 55 49 104 24.7 79.3
* 40| AR AF 51 51 1021 22.0 80.0
MBK = 49 56 105| 245 80.5
2|Fh= B— 51 50 101 204 80.6
318 s (M) 52 47 99 18.0 81.0
MEE 174 59 57 116 34.8 81.2
* 45|84 AA 57 51 108 26.2 81.8
46|/ FliE 55 56 111 28.8 82.2
47\m H EER 57 54 111 28.4 82.6
485 TH —ER 49 55 104 18.1 85.9
NE@A E5 51 56 107 211 859




